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BACHELOR OF SCIENCE (GENERAL)
(WITH ZOOLOGY)

(BSCG)

Term-End Examination

June, 2023
BZYET-141 : IMMUNOLOGY

Time : 2 Hours Maximum Marks : 50

Note : Question no. 1 is compulsory. Attempt any
four questions from questions no. 2 to 7.

1. Fill in the blanks : 10x1=10
(1) Diphtheria toxin is an ............. :

(11) The term “complement” was coined
by e .

(GE V) I pH of sebum discourages microbial

(1270 I 1s the main cell involved in acute
inflammation.

(V) e vaccine stimulates production to
anti-tetanus antibodies that prevents the
entry of toxin in neurons.

P.T.O.
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(vi) A longer lag phase is observed in the
............. Immune response.

Q7211 antibody predominates in the
blood during secondary response.

(vii1) The primary stage of tumor is also known
aAS cevernrnnnns X

(X) teveeeeennns oncoprotein is abundant in the

(x) The practice of inoculation of dried
pustules is called ............. .

Differentiate between the following pairs of
terms : 5%2=10

(1) Becelland T cell
(11) Hapten and immunogen
(111) Class I MHC and Class II MHC

(iv) Positive selection within thymus and
negative selection within thymus

(v) Active immunity and passive immunity

(a) Write the various steps 1in the
establishment of bacterial infection. 5

(b) Explain the neutralization mechanism of
bacteria by antibodies. 5
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Describe the structure of bone marrow with a
neat and well-labelled diagram. 5+5=10

(a) Define antibodies and draw the structure
of immunoglobulin. 5

(b) Explain the significance of the different
classes of antibodies. 5

What is Vaccination ? Explain the different
types of vaccines. 2+8=10

(a) What is immune deficiency ? Explain how
our immune system prevents
autoimmunity ? 5

(b) What are the different types of
hypersensitivity according to Gell and
Coombs ? Briefly explain. 5
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1. faa o =+t 9fd *ifs . 10x1=10
(i) '%T{Qﬂ'ﬁ_aﬂ Eﬂ%l'\ﬂﬁ ............. %l

(i) v g U IR

(i) HreH T pH §&H Sl & fowm &l
T & W Akl 2
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(iv) & SR 8 S Wkl & fog
THF 2
(v) == e, T fedTm gfeft & oA

H 9@ WX afse W SuRed el 9
SEHL AT 1 FAY HT W Yehall B

o | gad el el

(viii) ST BT WiafHqer  Sfewenr wt e o
FEd T

(ix) S=hIAEE gul H YR #0613
2l

. FAfafed s & g % @M= H SRR

AR 5%2=10
() B IR 3R T KR
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() T=A 3R gfaeersH
(i) &°f I MHC 3R & 11 MHC

(iv) oreag ¥ uifafed == &R ueag ¥ frfe
EDE|

(v) Wfera faRen iR fafera wfaen

. (@) STam] GRAT & WA & fafv= =)o

fafau) 5
(b) wEiEr gR Stam] &t fafgs frsyeed
forarfaferal Ta= wifST 5

. oI 3R gAMIfhd @ Wfgd Hooll i GTEl
CalcHERET IS 5+5=10

. (@ Wfmet w1 gRwfm wif eiR

gfReiTeligfe i SEA1 k1 ARG dAETU 5

(b) wfmelt & fafg= o & " o1 faero
IS 5

. O = © 2 Tafye YR & AFT B auid
ShifSTa| 2+8=10
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7. () ftenm €9ar o Bt § ? THN gfaRen 9=
fhg TR IRl 1 Uhal © ? 9UH
HITSTT| 5

(b) T Td HFEE % IER fafs= y&r =t
sfadaeTsiiciar -9 & ? €89 § 9uH
Ty 5
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